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1 Introduction

1.1 Objectives
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2 Unit test case specification
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2.1  Test case specification identifier
<Table 1 : Test Case ldentification>

Identifier Feature(Process DFD) Valid value

Sale Btn 2 &% X U= U 0 2 Request
POS_UTC 101 Sale Interface N

DP 2 HXAF0{0F oL}

Sale Btn 2 Y3 242 [ff Sale state 2
POS_UTC_1 .02 Sale Interface MO|Z|= trigger 1= Q1 1 & Request DP Of

g7 ZF0{0F otCt.

Refund Btn = ¢ &X| (UZ M 0 =
POS_UTC 2 01 Refund Interface N

Request DP £ H7{FF0{0F oL

Refund Btn 2 3 22 [f Refund state £
POS_UTC 2 02 Refund Interface MO|&|= trigger 2= Q1 2 2 Request DP O

g7 ZF0{0F oiCt.
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Stock Btn & YU X YUUZ Il 0 S Request

POS_UTC_3_01 Stock Interface
- - DP 2 Y7{F0{0f BIC}

Stock Btn & 23 2 M Stock state 2
POS_UTC_3_02 Stock Interface MO|&|= trigger 2= Q1 4 2 Request DP O

=H7{=0{0f BiCt

Stock Btn & YU X YUUZ I 0 S Request
POS_UTC 4 01 PowerBtn Interface N

DP 2 HXF0{0F oL}

Stock Btn 2 Y& 22 [ Stock state &
POS_UTC_4_02 PowerBtn Interface MO|&|= trigger 212 Q1 52 Request DP 0O

=H7{=0{0f SiC}

OK Btn 2 23 X YUS O 0 S Request
POS_UTC 5_01 OK Interface N

DP £ EHZF0{0F BtCt

OKBtn= 23 2AZ M OK state 2 MO|&[=
POS_UTC_5_02 OK Interface trigger 412l 6 & Request DP Of H7430{0}

St

Cancel Btn 2 3 £HX| QI%*S If 02 Request
POS_UTC 6_01 Cancel Interface N

DP 2 E7F0{0F 3iCt.

Cancel Btn & 3 242 M Cancel state 2
POS_UTC_6_02 Cancel Interface MO|Z|&= trigger 412 Ql 72 Request DP Of

=7 F 00 BiCt,

Plus Btn 2 &3 X QAUZ Mf ZS7HA[FOF
POS_UTC_7_01 Plus Interface St CIAMQI £2k2 ZIIAZIX| 2T =2

Request DP 2 H7{30{0F Lt

Plus Btn 2 &3 &AZ [If S7tA|Z{0F o=
POS_UTC_7_02 Plus Interface CHael =22 1 S7HA[7|12W Request DP =

=7 F0{0fF BiCt,

Minus Btn 2 ®3 X %US Mf S7HA[7HOF
POS_UTC_8_01 Minus Interface St= CHAQI =TS HAAF|X| %10 YFES

=2 4
Request DP 2 H7{30{0F Lt
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Minus Btn & 23 ZAS O Z2AA[F{0F St=
POS_UTC_8 02 Minus Interface CHatel &2 1 ZAA|Z|D Request DP =2

B730{0F otCt.

Sale btn 22 Al Trigger S E controller 0
POS_UTC_9_01 Request DP

HES =0t

Refund btn &2 A| Trigger 2= & controller Of
POS_UTC 9 02 Request DP

HESHECH

Stock btn ®2 A| Trigger 21Z & controller 0
POS_UTC_9_03 Request DP

HES =Lt

Power btn 2 A| Trigger 412 & controller Of
POS_UTC 9 04 Request DP

HEH =Lt

. OK btn 2 &8 22 M| print_trigger 2= 1
POS_UTC_10.01 | Request Print = =
2 X7|25tn ghetotrt
. Cancel btn 2 23 242 M print_trigger &2
POS_UTC_10_02 Request Print L i
0 2 =7\t Hetotot
S Olgd diot=

POS_UTC_11_01

Request Update

njo

M update_trigger <

>

POS_UTC_11_02

2  Uodat Cancel bth & ¢
eques ate L
‘ P He 02 X738

f update_trigger

o}
AN
s1sic}

b

—

=3
=
a
[}

_—

—

<Table 2 : Test Case |dentification>

Identifier

Input Specification

Output Specification

POS_UTC_1_01

buttoninput.SaleBtn

return O;
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POS UTC_1.02 buttoninput.SaleBtn == return 1;
POS UTC 2 01 buttonlnput.RefundBtn == return O;
POS UTC 2 02 buttonlnput.RefundBtn == return 2;
POS_UTC 3 01 buttonlnput.StockBtn == 0 return O;
POS_UTC_3_02 buttonlnput.StockBtn == return 4;
POS _UTC 4 01 buttoninput.PowerBtn == return O;
POS_UTC 4 02 buttoninput.PowerBtn == return 5;
POS _UTC 5 01 buttoninput.OKBtn == 0 return O;
request_print(1);
POS _UTC 5 02 buttoninput.OKBtn == 1 request_update(1);
return 6;
POS UTC 6_01 buttoninput.OKBtn == 0 return O;
request_print(0);
POS _UTC 6 02 buttoninput.OKBtn == 1 request_update(0);
return 7;
buttonlinput.PlusBtn == 0,
POS UTC 7_01 return target;
datalnput.target
buttoninput.PlusBtn == 1, target+=1;
POS_UTC 7 02
datalnput.target return target;
buttoninput.MinusBtn == 0,
POS_UTC 8 01 return target;
datalnput.target
buttonlnput.MinusBtn == 1, target-=1;
POS_UTC 8 02

datalnput.target

return target;
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POS UTC 9 01 buttonInput.pressed_button== return 1;
POS UTC 9 02 buttonInput.pressed_button== return 2;
POS UTC 9 03 buttonInput.pressed_button== return 4;
POS_UTC 9 04 buttonlnput.pressed_button==0 return 5;

POS_UTC_10_01

buttoninput.btn_trigger==0

print_trigger=0;
retutn print_trigger;

POS_UTC_10_02

buttoninput.btn_trigger==

print_trigger=1;
retutn print_trigger;

POS_UTC_11_01

buttoninput.btn_trigger==0

update_trigger=0;
retutn print_trigger;

POS_UTC_11_02

buttonInput.btn_trigger==1

update_trigger=1;

retutn print_trigger;

2.2

Test items
HAE CH&2 SASD 7| S 0|83t0] 7HEst POS System= 11 L= $HCE SARF SD
oM 2&F3t St 2t O8g HERSHY Unit2 X

Z} Process/Module £ Testing=
ol
=

ok, X’get unit2 SRAO BAlE LIED EX5ts S

item2 Of2ie| A 2SS HIE2=Z X ds5tULt

1) POS System?| Overall DFD
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Barcode
Barcode Input—— Interface
A S |

Sale Btn Input » Interface
12
/ Refund B e N
—Refund Btn Input— Interface |
13

Stock
Stock Btn Input——{ Interface
14

Trigger

Cancel \_ Trigger
Cancel Btn Input— Interface |
15

} » Receiptprint -

Plus Btn Input: »| Interface |

} » Updateinfo

———Minus Btn input—— Interface |
\ A

“a —
/ Prine
. | Receipt |
) \ 217/
Print ——

[ ok X—"
OK Btn Input P Interface |
\_ 18
Power Bari”
~———Power Btn Input—— Interface /"
19 /

2) POS System?| Structured Charts

Request : Request
Display Update

Update DB

= Iﬁl Iﬁl =3l Iﬁl Iﬁl Iél Iél

2.3 Input specifications

<Table 2> &=
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2.4 Output specifications
<Table 2> &=
3 Environmental needs
POS System 2| Unit Test & @2 &&H QAL ChEaF 2o
(1) Hardware & Platform
GCC compiler/linker
(2) CTIP(Continuous Testing & Integrated Platform) Environment
Cygwin

4 Unit test summary report

4.1 Test summary report identifier

Ver. 3

Feature
Identifier (Process Feature Description Pass/Fail Criteria Test Result
DFD)
Input : PASSED
al Sale Btn 2 €% &'X| | buttoninput.SaleBtn
ale
POS_UTC_1_01 AUS U} 0 2 Request | ==
Interface o
DP 2 H7F0{0F StCt. | Output :
return O;
Sale Btn 2 U Z/UAZ | Input: PASSED
Sal Iy Sale state 2 buttoninput.SaleBtn
ale
POS_UTC_1_02 MO|&|E= trigger AMZ Q| ==
Interface °
12 Request DP 0f Output :
‘& 7{30{OF otC}, return 1;
° Input : PASSED
Refund Btn = ¢H
- o | buttoninput.RefundBt
Refund LA UUAZS O 0 =
POS_UTC_2_01 n==
Interface Request DP =2 Outout -
7% 0{Of Bict N
return O;
T2 Team 9
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Refund Btn & & Input : PASSED
BHofS [ Refund buttoninput.RefundBt
bOS UTC 2 02 Refund state 2 MO|&|& n==1
- T Interface trigger 8120 2 2 Output :
Request DP 0f| return 2;
‘& 7{70{0F otC},
Input : PASSED
Stock Stock Btn 2 23 &X| [ buttoninput.StockBtn
POS_UTC_3_01 nterface AUAZS U 0  Request | ==
DP 2 E7{F0{0f BtCt. | Output :
return O;
Stock Btn 2 & Input : PASSED
2AS If Stock buttoninput.StockBtn
50S UTC 3 02 Stock state 2 MO|&|= ==
- T Interface trigger 122l 4 & Output :
Request DP 0f| return 4;
‘& 7{30{0F otCf,
Input : PASSED
DowerBin Stock Btn 2 23 #X| | buttonlnput.PowerBtn
POS_UTC_4_01 AUZS M 0 2 Request | ==
Interface DP 2 E7ZF0{0F SICt | Output :
return O;
Stock Btn 2 & Input : PASSED
2AS If Stock buttoninput.PowerBtn
pOS UTC 4 02 PowerBtn | state 2 MO|E|&= ==
-7 Interface trigger 81292 52 Output
Request DP 0f| return 5;
A4 30{0f BtC}
Input : PASSED
oK OK Btn 2 & X | buttonlinput.OKBtn ==
POS_UTC_5_01 nterface AUAS U 0 Z Request |0
DP 2 E7{F0{0f BtCt | Output :
return 0;
OK Btn 2 €3 ZUAZS | Input: PASSED
oK I OK state 2 buttonlnput.OKBtn ==
POS_UTC_5_02 mterface HO|&|& trigger 2= Q1 | 1

6 2 Request DP 0f
'© 743 0{OF Lt

Output :
request_print(1);

T2 Team
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request_update(1);

1

return 6;
Input : PASSED
Cancel Btn 2 €9 bptt noUt OKBL
uttonlnput. n==
Cancel |z w2 w oo 2 P
POS_UTC_6_01 0
Interface Request DP =3 Outout -
4 7{720{0F Bhet e
return O;
° Input : PASSED
Cancel Btn 2 ¢
roro buttonlnput.OKBtn ==
ZA=S M Cancel 1
Cancel state 2 MO|&|=
POS_UTC_6_02 ) N ° Output :
Interface trigger 812021 72 ,
request_print(0);
Request DP 0f| ¢ undate(O)
7 0{0F Bhc, requestupdate
return 7,
Plus Btn & 23 £X| [ Input: PASSED
UUAZS W SIHA[F{OF | buttoninput.PlusBtn
Plus St= Oidel =2 |==0
POS_UTC_7_01 _ =
Interface S7HAIZIX| @ AE2 | datalnput.target
Request DP Z | Output :
A4 30{0f BtC} return target;
Input : PASSED
Plus Btn 2 &3 2tZ | buttoninput.PlusBtn
ol M B7HAFA0F  St=|==1,
us
POS_UTC_7 02 CH & Q! T2 1 | datalnput.target
Interface -
Z7tAZ| 1AW Request | Output :
DP 2 EHZF0{0F SICt. | target+=1;
return target;
Minus Btn 2 &3 £X| | Input : PASSED
AAS W S7FAIFAOF | buttoninput.MinusBtn
Minus St=  Oidel =3 |[==0
POS_UTC_8_01 o
Interface HAAZ|X] %0 A E | datalnput.target
Request DP Z | Output :
B 74ZF0{0F BtCt. return target;
Minus Btn 2 & [Input: PASSED
Minus Hiotg M ZAA|FHOF | buttonlnput.MinusBtn
POS_UTC_8_02 N -
Interface St CH&Ql =&E 1] ==
ZEA

datalnput.target
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DP 2 75 0{0F StCt.

Output :
target-=1;

return target;

Input : PASSED
Sale btn ¥YH A buttoninout b
uttonlnput.presse
Trigger M E put-p -
POS_UTC_9_01 | Request DP utton==1
controller of Outout -
SR P
return 1;
Input : PASSED
Refund btn Q= Al
) . = | buttoninput.pressed_b
Trigger M2
POS_UTC_9_02 | Request DP utton==2
controller of Outout -
L e P
return 2;
Input : PASSED
Stock btn = A
) L = | buttoninput.pressed_b
Trigger MSE
POS_UTC 9 03 Request DP utton==
controller of Outout -
SECEE P
return 4,
Input : PASSED
Power btn @ Al| "
) L o | buttoninput.pressed_b
Trigger MSE
POS_UTC_9_04 | Request DP utton==0
controller of Outout -
LR R
return 5;
Input : PASSED
OK btn S 9l srore buttonlnput.btn_trigge
Request ) ) - r==0
POS_UTC_10_01 , M print_trigger 22 1
Print o L Output :
e 1-T S
print_trigger=0;
return print_trigger;
Input : PASSED
Cancel btn & &% | buttoninput.btn_trigge
Request 22 M print_trigger | r==
POS_UTC_10.02 | - v= 1 prm-Tas
Print w2 0 2 Z7|35t1 | Output :
ek otCh print_trigger=1;

return print_trigger;
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Input : PASSED
OK btn & 23 #Z | buttonlnput.btn_trigge
pOS UTC 11 01 Request I update_tnggei US| r==0
Update 1 27|25t | Output :
Hhets update_trigger=0;
return print_trigger;
Input : PASSED
Cancel 2 Y | buttonlnput.btn_trigge
Request LUAS i | r==
POS_UTC_11_02
Update update_trigger #t= 0 | Output :
2 X7|215t0 gtetstCt | update_trigger=1;
return print_trigger;
4.2  Evaluation

Total Test Case : 24 7|

Passed : 24 7

Failed : 074
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